
EXPLODED VIEW - MIXERS WITH FIXED HEAD (22 ÷ 33 liters) SINGLE SPEED 
MODELS: TMP22-230-N, TMP33-230-N  



SPARE PARTS LIST - MIXERS WITH FIXED HEAD (22 ÷ 33 liters) SINGLE SPEED 
MODELS: TMP22-230-N, – TMP33-230-N 

POS. COD. DESCRIPTION 
TMP22-
230-N

TMP33-
230-N

FROM… …TO 

1 
A96ZE00008 SAFETY GUARD IF/IR 22 ✓

A96ZE00009 SAFETY GUARD IF/IR 33 ✓ 

2 
A96ZV00016 BOWL IF/IR 22 ✓

A96ZV00017 BOWL IF/IR 33 ✓ 

5 A96ZD00001 SNAP RING DIAM. 25 IF/IR ✓ ✓ 

6 A89CK00010 BEARING 6205-2RS TF÷TR ✓ ✓ 

7 A96ZV00025 SUPPORT BOWL BASE IF/IR  17/22/33/42/53 ✓ ✓ 

8 
S14MT67007 BOWL CHAIN 06B/126 IF÷IR 17÷22 ✓ 

S14MT67008 BOWL SPIRAL 06B/144 TF÷TR 33÷42÷53 ✓ 

9 
A96ZR00004 CROWN Z=72 06B IF/IR 17/22 ✓ 

A96ZR00005 CROWN Z=85 06B IF/IR 33/42/53 ✓ 

10 A96ZI00013 BOWL SUPPORT AXLE IF/IR 17/22/33/42/53 ✓ ✓ 

11 A86ME24115 SCREW M8X35 TF÷TR ✓ ✓ 

12 A96ZE00013 GUARD RING IR ✓ ✓ 

13 
A96ZI00014 SAFETY GUARD PIN IF/IR 17/22 ✓ 

S63FS67001 SAFETY GUARD PIN TF/TR 33/42/53 ✓ 

14 A96ZE00012 CAM FOR SAFETY GUARD IF ✓ ✓ 

15 A86ME32013 SCREW M8X10 TF÷TR ✓ ✓ 

21 A86ME24114 SCREW M8X30 ✓ ✓ 

25 
A96ZS00004 SPIRAL IF/IR 17/22 ✓ 

A96ZS00005 SPIRAL IF/IR 33/42 ✓ 

27 A96ZN00025 WIRE CLIP IF/IR ✓ ✓ 

28 A96ZN00026 SUPPLY WIRE IF/IR 17/22/33/42/53 

28 A96ZN00106 SUPPLY SCHUKO 90° SFM÷SRM÷SF-SR VS ✓ ✓ 

33 
A96ZA00005 DOUGH BREAKING ROD IF/IR 22 ✓ 

A96ZA00002 ROD BREAKING DOUGH IF/IR 33 ✓ 

34 A86ME24117 SCREW M10X25 TF÷TR ✓ ✓ 

39 
A96ZB00012 SIDE SAFETY PANEL IF 22 ✓ 

A96ZB00007 SIDE SAFETY PANEL IF 33 ✓ 

41 A96ZF00011 STEEL FOOT M12 IF/IR ✓ ✓ 

42 A96ZF00019 INSERT FOR PLASTIC FOOT IF/IR ✓ ✓ 

43 A96ZG00003 WHEEL WITH BRAKE M12 IF/IR ✓ ✓ 

44 
A96ZJ00026 MOTOR 230 V - 0,9 KW - 50 HZ 80 B14 IFM/IRM 17/22 ✓ 

A96ZJ00039 MOTOR 230 V - 1,3 KW - 50 HZ 80 B14 IFM/IRM 33 ✓ 

45 
A96ZC00001 COVER IF/IR 17/22 (WHITE) ✓ 

A96ZC00003 COVER IF/IR 33/42/53 (WHITE) ✓ 

47 A96ZD00002 RING IN NYLON IF/IR ✓ ✓ 

48 A86ME24119 SCREW M4X30 TF÷TR ✓ ✓ 

54 A96ZG00004 WHEEL WITHOUT BRAKE M12 IF/IR ✓ ✓ 

57 A96ZN00031 EMERGENCY STOP SWITCH IF/IR ✓ ✓ 

58 
A96ZL00010 REDUCTION GEAR FIXING RING IF/IR 17/22 ✓ 

A96ZL00018 FLANGE FIXING GEAR BOX TF÷TR 33 ✓ 

60 A86ME32014 SCREW M8X40 TF÷TR ✓ ✓ 

61 
A96ZL00008 GEAR BOX CM050 80 B14 1/30 FLS IF/R 17/22 ✓ 

A96ZL00015 GEAR BOX CM63 90 B14 1/30 FLS IF/IR 33/42/53 ✓ 

62 A86ME24118 SCREW M5X10 TF÷TR ✓ ✓ 



63 A96ZC00026 BACK PANEL TF 17/22 (WHITE) ✓ 

63 A96ZC00027 BACK PANEL TF 33/42/53 (WHITE) ✓ 

66 A96ZO00031 
COMPLETE CONTROL BOX TMP-230V (IF-1V-230V) 
– vers 2024 ✓ ✓ 

67 A96ZN00089 COMPLETE BLACK/WHITE SWITCH IF/IR 22/33/42/53 ✓ ✓ 

68 A96ZM00004 TIMER IF/IR ✓ ✓ 

69 
S14MT67006 SPIRAL CHAIN 06B/82 IF÷IR 22 ✓

S14MT67002 CHAIN 08B/73 TF÷TR 33 ✓ 

70 
A96ZH00010 CHAIN PINION GEAR Z=29 06B IF/IR 17/22 ✓ 

A96ZH00011 CHAIN PINION GEAR Z=29 08B IF/IR 33/42/53 ✓ 

71 
A96ZI00024 

TRANSMISSION SHAFT BASE UCF 204 IF 17/22 - IR 
17/22 ✓ 

A96ZI00025 
TRANSMISSION SHAFT BASE UCF 205 IF 33/42/53 - 
IR 33/42/53 ✓ 

72 A86ME26027 S. STEEL WASHER Ø 10 TF÷TR ✓ ✓ 

73 A86ME26026 S. STEEL WASHER SPRING Ø 10 TF÷TR ✓ ✓ 

74 A86ME24120 SCREW M10X35 TF÷TR ✓ ✓ 

76 A86ME36006 KEY 6X6X30 ✓ ✓ 

81 
A96ZH00008 CHAIN PINION GEAR Z=14 06B TF/TR 17/22 ✓ 

A96ZH00009 CHAIN PINION GEAR Z=16 06B IF/IR 33/42/53 + VS ✓ 

83 
A96ZI00030 TRANSMISSION SHAFT TF 17-22 "2008" ✓ 

A96ZI00031 TRANSMISSION SHAFT IF 33/42/53 ✓ 

84 A86ME36007 KEY 8X7X35 TF÷TR ✓ ✓ 

86 A96ZN00030 MICRO-SWITCH IF ✓ ✓ 

93 
S42PL00002 SPIRAL PLATE TF÷TR 17÷22 ✓ 

A96ZS00009 SPIRAL PLATE TF÷TR 33÷42÷53 ✓ 

94 A96ZD00003 O-RING DIAM. 20X2,5 IF/IR ✓ 

94 A96ZD00004 O-RING DIAM Ø18,72x2,62 IF/IR ✓ 

96 A86ME25026 NUT M12 ZN ✓ ✓ 

97 A96ZN00053 NYLON BLOCK BASE IF/IR ✓ ✓ 

98 A86ME25018 NUT M5 ZN ✓ ✓ 

99 A96ZN00052 TENSIONER BASE IF/IR ✓ ✓ 

100 A86ME24122 SCREW TCEI M5X30 TF÷TR ✓ ✓ 

101 A96ZF00037 TENSIONER ✓ ✓ 

105 
A96ZV00027 BOWL CHAIN TENSIONER PART IF/IR 17/22 ✓ 

A96ZV00028 BOWL CHAIN TENSIONER PART IF/IR 33/42/53 ✓ 

116 A96ZF00002 SCREW M8X100 TR ✓ ✓ 

130 A86EL49030 FUSE IF- IR ✓ ✓ 

131 
A96ZC00044 LOWER GRID IF17 - IF22 - IR17 - IR22 ✓ 

A96ZC00045 LOWER GRID IF33 - IF42 - IF53 - IR33 - IR42 - IR53 ✓ 

132 A96ZF00050 FOOT M12 IF-IR - TF÷TR ✓ ✓ 

134 A96ZN00091 
POWER BOARD 230-400V 1Ph-3Ph vers IF-IR – IFM-
IRM ✓ ✓ 

135 
A96ZS00002 COMPLETE SPIRAL SUPPORT TF÷TR 17÷22 ✓ 

A96ZS00003 COMPLETE SPIRAL SUPPORT TF÷TR 33÷42÷53 ✓




